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This presentation addresses Percent 

Funded theory and application. 

Full Funding is not the subject of this 

presentation.



A brief survey precedes the main 

presentation.

Full audience participation is appreciated.



Audience Survey



¾Assume that Reserve Studies & Percent 
Funded are both PERFECT!

¾Unless otherwise mentioned, also assume 
the following: 
1. Zero interest & inflation

2. Single component study

3.Component Method òleveló funding
example: $1,000/year contribution for a 5 year, 
$5,000 component



¾Even if you feel that inadequate data is 

provided, pick best answer.

¾Raise your hand high for best answer.

¾If unsure, answer òDonõt knowó.

¾Everyone participate. Iõm collecting data.



¾Practice question: Of the 3 following colors, 

which is your favorite?

A. Red,     685.0 nm, 442 THz, #ff0000, 

B. Green, 532.5 nm, 566 THz, #00ff00, 

C. Blue,     472.5 nm, 637 THz, #0000ff, 

D. Iõm color blind

E. Donõt know



¾By what frequency are Percent Funded 

values listed in your studies?

A. By year

B. More frequently (by mo, wk, day, etc)

C. Less frequently (by decade, etc)

D. Not at all

E. Donõt know



¾Which reserve fund balance do you use 

to calculate Percent Funded?

A. Beginning balance

B. Ending balance

C. Beginning & Ending balances

D. Other balance (mid -year, etc)

E. None

F. Donõt know



¾For a single component study with 

Component Method òleveló funding, 

which Percent Funded level is necessary?

A. Much more than 100% funded

B. 100% funded

C. Much less than 100% funded

D. Donõt know



¾Of the following Percent Funded levels, 

which indicates a need to reduce the 

current reserve contribution?

A. 120% 

B. 100%

C. 80%

D. Donõt know



¾Which Percent Funded level is better?

A. 70%

B. 30%

C. Donõt know



¾Does Mike need a haircut?

A. Yes

B. No

C. Donõt care

D. Donõt know



Calculations



Age = Useful Life ðRemaining Life



Component Fully Funded Balance =

Age * Cost / Useful Life

Total FFB =

Sum of each componentõs FFB


